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Orchid Tierney

d/evolve

She says — hello my Papeete! He
says - you are my private safari!
She says — let’s follow f€tes, let’s
kiss with sticky floss lips. He says —
and ride carousels, make love on
Ferris Wheels. She says — I will fix
our dinner. He says — and I will fix
our sink. She says would you buy
the milk. He says sorry I forgot. She
says im working late tonight. He
says its just a keg between the boys.
she says skidmarks on toilet seats.
he says toenails on remote. she says
sex twists word codes fine. he says
nag nag mind read whats wrong.
she says bikini atoll he says congo
she says he says she says he says
she he she he she he she he she he
she
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title[thewhitepageisnotblanktheauthordoesnotexist]

ni [barthes.scriptor]
ini  [whitepage]

chan: reader
term: the page “SYSTEMSOUTPUT”

scriptorcachesize=limited
msg:

entry
[poem] [poem] [poem]
[poem] [poem] [poem]
[poem] [poem] [poem]

;queue [metaphorsimilenorestart]

; establish channel for terminal
readercachesize= infinity

run: ¢:/window .author.gho
dmp [author]

press:
exe



